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CALCULATING 
COMBINATION CIRCUITS

• A "COMBINATION CIRCUIT" is (as you may 
have already guessed) a circuit that is a blend 
of series paths and parallel paths.

• Most circuits are of this variety.
• Don't be afraid to tackle these circuits as far 

as the math goes.
• You merely have to break each part of the 

circuit down into either a series circuit or 
parallel circuit. 
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Vab = 48 V

Vcb = _____

Vad = _____

Vec = _____

Vac = _____
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VCB = IBCRBC VCB = (4A)(4 )          VCB = 16V

Loop Rule: 
48 V - 16 V – VAC = 0 V
VAC = 32 V

VAC = I2RAC
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I2 = 1.33 A

Junction Rule: 
I1 = I2 + I3
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VAB = 72 V Vcb = _____

Vad = _____

Vec = _____

Vac = _____
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VEC = 8 V Vab = _____

Vad = _____

Vcb = _____

Vac = _____

I1 =  _____

I2 =  _____

I3 =  _____
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